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Question Number : 1 Question Id : 97675519805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

P5, J10, D20, X40, Q80
Options :
1. ® J10
2. % D20
3. % X40
4. ¥ Q80

Question Number : 1 Question Id : 97675519805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3hd fear T 8, fored § U Ug Tad ¢ | 3T T fawed! & 9 39 7 ue &I gfu|

P5, J10, D20, X40, Q80
Options :
1. #* J10
2. % D20
3. % X40
4. ¥ Q80

Question Number : 2 Question Id : 97675519806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

1Q26, EU35, AY45, WC53, SG62
Options :

1. * 1Q26

2. % EU35

3. ¥ AY45

4. ® SG62

Question Number : 2 Question Id : 97675519806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3hd fean T 8, ford § U ug ad ¢ | 3T T fawed! & 9 39 7Tad U &I gfu|

1Q26, EU35, AY45, WC53, SG62
Options :

1. * 1Q26

2. % EU35

3. ¥ AY45



4. % SG62

Question Number : 3 Question Id : 97675519807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. ¥ Bat

2. % Crow

3. # Parrot

4. # Pigeon

Question Number : 3 Question Id : 97675519807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e fawedl & 9 fawd 2rsg &1 gl
Options :

1. ¢ JHIGS

2. % Hlafl

3. % didr

4. % FIR

Question Number : 4 Question Id : 97675519808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(LT, KU, JV)
Options :

1. % (BD, AE, ZG)
2. % (SF, TE, UD)



3. % (NZ, MY, LX)
4. ¥ (QW, PX, OY)

Question Number : 4 Question Id : 97675519808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffaa uy & el &1 ue I4g e a1 8 | Ude THg & 3R I THE & 31eRl & wiy fryg ad/Haudey 3 gefia g1 fad e
fqemedl T 9 31&RI I Uh THE P! (T ol UM dob/FaH/ A BT IR0 Hcll B

(LT, KU, JV)
Options :

1. # (BD, AE, ZG)
2. % (SF, TE, UD)
3. % (NZ, MY, LX)
4. ¥ (QW, PX, OY)

Question Number : 5 Question Id : 97675519809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

BVL :EYP::?
Options :

1. ¥ DOW : GRB
2. ¥ XCJ : AFN
3. # PYN:SCR
4. % ZAQ :CDT

Question Number : 5 Question Id : 97675519809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy & i 77T fowedl § 9 e sfeR g &1 gHu|



BVL :EYP :: ?

Options :
1. ¥* DOW : GRB
2. % XCJ: AFN

3. % PYN:SCR
4. % ZAQ :CDT

Question Number : 6 Question Id : 97675519810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘COURSES’ is written as ‘315211819519°. What is the code for ‘DIAGRAM’ in that code language?
Options :

1. # 481718113

2. % 49171813

3.9 491718113

4. % 491818113

Question Number : 6 Question Id : 97675519810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRAP BT HIWT H, “COURSES’ BT 315211819519° forRaT SITdT 8 | 39 IS HTNT H ‘DIAGRAM’ BT HIS T 32
Options :

1. % 481718113

2. % 49171813

3. ¥ 491718113

4. % 491818113

Question Number : 7 Question Id : 97675519811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons P, Q, R, S and T have different salaries. The salary of S is more than the salaries of only two persons. The salary of R is more than
the salary of T. The salary of P is more than the salary of Q, but less than the salary of T.



How many persons have less salary than the salary of R?
Options :

1. %1

2. %2

3.% 3

4. ¥ 4

Question Number : 7 Question Id : 97675519811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uia Afdd p, Q, R, S AT T &1 fAfT Iq 81 S BT da- had ¢l Gt & ddT Y UG §I R PTITT T H daT A B I PHIATAQ P
d Y AHRAF TR TH daT A A

fra afaddl 1 3a R & AdH A HH 82
Options :

1. % |

2. %2

3.% 3

4.9 4

Question Number : 8 Question Id : 97675519812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven persons A, B, C, D, E, F and G sit around a circular table facing towards the centre (not necessarily in the same order). Two persons sit
between C and D. F sits second to the left of C. A sits to the immediate right of E. G sits third to the right of B.

How many persons sit between D and G?
Options :

1. %0

2.¥1

3.% 2

4. %3



Question Number : 8 Question Id : 97675519812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

q1d Ffad A, B, C, D, E, F 4T G T JATHR ol &b 36-1116 Bhg DI 3R T FIP 96d & (SR 1ol Bl U AT RN C AU D H S H ar
AT IEA 8| F, C P IR 3R gIR VM IR I3AT 81 A, E P R el R 93dT g1 G, B &b G 3R R RIF IR 931 6|

D dY1 G & o9 § fhan safad dod /2

Options :

1. %0

2.¢¥ 1

3. %2

4. % 3

Question Number : 9 Question Id : 97675519813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven games G1, G2, G3, G4, G5, G6 and G7 were played on seven different days of the same week from Monday to Sunday (not necessarily in
the same order). Three games were played between G2 and G5. Two games were played between G6 and G4. G3 was played on Tuesday. G2 was
played after G4. G7 was played on Friday. G6 was played after G2.

Which of the following statement is correct?
I. No game was played between G2 and G6.
II. G1 was played just before GS.

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 9 Question Id : 97675519813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qd 9@d G1, G2, G3, G4, G5, G6 IUT G7 ! AR ¥ IAddR T U &1 Gie o Iid fafvd fo=l & war mar o1 ((F) 76! &bt 341 v |




8N G2 dYT G5 & & H 19 Wd Wl T A G6 TUT G4 & o1 7 &1 Wal Wl W U1 G3 Pl HITAAR DI WA T UT| G2, G4 P §1G WalT 711
YT G7 B! AR P Wl T UTI G6, G2 P TG Il 74T AT |

fafafea § 4 o a1 sy I8 82

1. G2 TUT G6 & &1 PIs HY W gt Wl 7T UT|
II. G1, G5 & o1® Ugd Wdl 11 Y|

Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATRIII

Question Number : 10 Question Id : 97675519814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. AlE are F.
II. Some E are P.

Conclusions:
I. Some F are P.
II. Some P are not E.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 97675519814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy & 58 U 3R 39D 918 31 Bl R SMUTRT & (b U MU | 3T T HU=1 &1 9! AM, 31e 349 AE= 1 a2t
3 firerar 811 gt e ue iR fipR FRaffea &% o fau e o1 T fee, 3w 71T AT & SR R gfeaaia g |

HY:
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Options :

1. ¢ had =B | STERU BT ®
2. % Had BN 11 IR0 Hal §
3. % G (FIShY [ T 11 SFJIR0T 6’ &
4. % 1% 1t Freepf SreR0r TEl R @

Question Number : 11 Question Id : 97675519815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All D are G.
II. NoGis F.
III. AIl F are C.

Conclusions:

I. Some C are not G.
II. NoDisF.

III. NoDis C.
Options :

1. % Only conclusion I follows



2. * Both conclusion II and III follows
3. ¥ Both conclusion I and II follows

4. % All conclusion follows

Question Number : 11 Question Id : 97675519815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau U Uy H 8 U 3R I 918 31 HUHI IR SAUNRG & (56Y 3T T4 § | 3T T H2= &1 981 aM, 918 S8 Qg J1d 9
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1. &5 H D, C TS B

Options :

1. % Had FpY 1 SFIER0T Rl §

2. % G FSHY 11 TUT 111 3FIER0 Hd §
3. ¢ QI S 1 T 11 3FIRRUT A ©
4. % 1} FIsh Y SFIRRUI R §

Question Number : 12 Question Id : 97675519816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If124 A80B 16 =129 and 88 A 96 B 8 = 100, then 256 A45B 5=7
Options :

1. % 245

2.9 265

3. % 270



4. = 280

Question Number : 12 Question Id : 97675519816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 124 ABOB 16 =129 TUT88 A 96 B8 =100 8I, A 256 A45B 5 =2
Options :

1. = 245

2. ¥ 265

3. % 270

4, = 280

Question Number : 13 Question Id : 97675519817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

6 0 [1
12 | 4
16 | 8

L

10
18

l."

o

(S
(=

Options :
1. % 4
2. % 28
3.0
4. % 36

Question Number : 13 Question Id : 97675519817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy @ fau T fosedl O 9 Uy fig (2) & ®IM WR 3 dTelt Ie &1 gl
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o

o
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Options :
1. % 4
2. % 28
3.0
4. % 36

Question Number : 14 Question Id : 97675519818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many uneducated are not young?

45

[T

— Young
28 s

-2

29

LA

Uneducated

[

Employed

Options :
1. %5

2. %29
3.9 34
4, % 35

Question Number : 14 Question Id : 97675519818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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29

g
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Options :
1. %5

2. % 29
3.9 34
4. % 35

Question Number : 15 Question Id : 97675519819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. The total number of poets is 191.
II. The number of cars which are rats is 41.

Rat

Car

Poet

Options :



1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 15 Question Id : 97675519819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feT Y 39 3R & MR R, Fufafaa § T o9 a1 sy 98 82

1. 4! B Hdl G- 191 B
1. 98 R Sl I §, P! T 41

Options :

1. Had |
2. % Had Il
3. % [ UGl
4. % qEIIATR I

Question Number : 16 Question Id : 97675519820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One morning, a person starts to walk towards the sun. He turns to the right. He again turns to the right. He turns to the left. Finally, he turns to the
right. Which direction is he facing now?

Options :



1. * East

2. ¥ West
3. * North
4. * South

Question Number : 16 Question Id : 97675519820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh GoTs, Uoh oo U 1 3R el 3IRH Bl 2| 98 el 3R qodl ¢ | 98 T: el 3R qe1 2| a8 ot 3R g ¢ | 3ida: a8 el
3R ST g 39 98 [y o= ) 3R W w7 32

Options :

1. % qd

2. ¥ UiH

3. % 3}

4. % g

Question Number : 17 Question Id : 97675519821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C, D and E are standing in a ground facing towards the north. A is at a distance of 70 metre to the right of B. E is at a distance of 20 metre
to the right of A. B is at a distance of 100 metre to the left of D. C is at a distance of 60 metre to the left of E. What is the distance between B and
C?

Options :

1. % 20 metre
2. ¥ 30 metre
3. % 40 metre

4. % 50 metre

Question Number : 17 Question Id : 97675519821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A,B,C,D TUTE IR B! 3R TG b Udh HaH B TS U T | A, B I TR 3R 70 X B A IR G 1 E, A Y RIT 3R 20 R DI g W B




B, D ¥ 91T 3R 100 HR P GA W81 C, E Y TR 3R 60 MR DI G W g1 B TUTC & d1d DI Gl T 62
Options :

1. % 20 HIex
2. ¢ 30 HIeR
3. % 40 Hiex
4. % 50 AR

Question Number : 18 Question Id : 97675519822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Vi+t|V
| X | 2
> =D

Options :

2.¢¥

pZan [ | g e




K

4. %

Question Number : 18 Question Id : 97675519822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI It IR MBI UY MBI & UfeRed DI TR B2

Vi+t|V
| X | 2
> =D

Options :

2.¢¥

3. %

L & |E [




Question Number : 19 Question Id : 97675519823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

7

A~crrrerroee B

Options :

=Nl Sl Sk

Question Number : 19 Question Id : 97675519823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g T GUU DI AB T IR W MY, <1 &1 715 S7R SHIaal # B AT M1l U Hfa &1 wg! ufafda grme

77

Acrrrerooee B

Options :

98

198
98

Question Number : 20 Question Id : 97675519824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?



=

/ﬂq
337
=]
B
Options :
PR
G
1. % 3
2. %
PR
Gh
3. % g
PR
%
4. & H

Question Number : 20 Question Id : 97675519824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife Ueh UUT T AB AT TR T 9T, oY 1 718 TR Mpiadl & J B Y 3Mpfa Uy fpfa o1 Tet ufafes g




LU
4w o
|
FIFIIFIRIIT R

Options :

.
®

9mr U qu. T L

‘D:Pﬂ o "xp-n 2 [IF‘TI 2

3. %

PR

%
4, v m8

General Awareness

Group Number : 2
Group Id : 976755661
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 9767551091
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551266
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675519825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Meenakshi Temple is situated in which state of India?
Options :

1. % Tamil Nadu

2. % Karnataka

3. # Kerala

4. % Andhra Pradesh

Question Number : 21 Question Id : 97675519825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hreft AfeR WRa & g Isu 7 fRUd 82



Options :

Question Number : 22 Question Id : 97675519826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“Tappa” is a regional music of which state?
Options :

1. % Uttar Pradesh

2. ¥ Punjab

3. ¥ Himachal Pradesh

4. # Rajasthan

Question Number : 22 Question Id : 97675519826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP 35 e &1 gt T 8
Options :

1. % JW UK

2. ¢ ST

3. % fguTad U™

4. % TR

Question Number : 23 Question Id : 97675519827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is present on the back side of Rs. 10 note of the new Mahatma Gandhi (New) Series?
Options :



1. ¥ Sun Temple, Konark
2. % Rani ki Vav

3. % Red Fort

4. ¥ Mangalyaan

Question Number : 23 Question Id : 97675519827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 3T P HETHT et (7S) 4Raal & U1 ) oR% 182
Options :

1. ¥ O R, S

2. % Ml drg

3. % qTd foba

4. ® HIAN

Question Number : 24 Question Id : 97675519828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding personal disposable income?
Options :

1. # Personal income + personal tax payments + non tax payments

2. # Personal income + personal tax payments — non tax payments

3. ¥ Personal income — personal tax payments — non tax payments

4. ® Personal income — personal tax payments -+ non tax payments

Question Number : 24 Question Id : 97675519828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aafade UaIey 31 & de # Fufafed # 9 o 91 98! 52
Options :

1. % Jufaae T + JGfddP BR ST + TRBR ST



2. % QUfades 3T + JTfGdD B ST - TRBT STt
3. « JUfad 3T - JUfade B ST - TRBT ST
4. % JUfeID 3174 - JufdIch DR ST + RSB et

Question Number : 25 Question Id : 97675519829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Burning of coal is an example of which reaction?
Options :

1. # Decomposition reaction

2. % Displacement reaction

3. % Double displacement reaction

4. ¥ Combination reaction

Question Number : 25 Question Id : 97675519829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B BT G5 [l SHTTHAT BT IETERUT 572
Options :

1. % fagrer sififran

2. % {qRITU 3iftifepar

3. ® fgfdRITy= 3iftifchar

4. IS SffHfepam

Question Number : 26 Question Id : 97675519830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. 1 kwh=3.6 x 10°KJ.
II. The SI unit of electric current is ampere.

Options :



1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 26 Question Id : 97675519830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ & 91 YT 98 22

I. 1 kwh=3.6 x 10°KJ.

11. faggd YRT &1 TH.3715. U= URRR 3
Options :

1. % FHadl

2. ¥ Had Il

3. % [ UGl

4. % qGIIATRIII

Question Number : 27 Question Id : 97675519831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. CO, is not a greenhouse gas.

II. Water which is purified and fit for drinking is known as potable water.
Options :

1. % Only I

2.% Only II

3. % BothITand IT

4. % Neither I nor II

Question Number : 27 Question Id : 97675519831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 & 91 By I8t 82

I. CO, U& UIYT- TR 19 181 g |

11, T3 qUT Ui TG S &1 U S Sad g |
Options :

1. % Had 1

2. ¢ HAd Il

3. % [ UGl

4. % AT I

Question Number : 28 Question Id : 97675519832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cultivation of grapes is called

Options :

1. # Sericulture

2. ® Horticulture

3. % Viticulture

4. % Mariculture

Question Number : 28 Question Id : 97675519832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R BIERP_ Ped gl

Options :

1. % I IA1GA
2. % IYHA PN
3. v QT BN

4. % T PN



Question Number : 29 Question Id : 97675519833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per 2011 census data, which of the following state in India has highest population?
Options :

1. # Mabharashtra

2. % West Bengal

3. % Uttar Pradesh

4. % Bihar

Question Number : 29 Question Id : 97675519833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 & SFRTOMT & SR, HRd # Ffeiad & T forg I & see gey i 82
Options :

1. % TERIY

2. % OiYY e

3. ¢ JWUSY

4. % fagR

Question Number : 30 Question Id : 97675519834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Godavari is the largest peninsular river.
II. Total length of Kaveri river is about 760 km.

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :



1. Only I

2. Only II

3. Both I and II
4. Neither I nor II

Question Number : 30 Question Id : 97675519834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ & 91 YT 98 22

1. M) gad 91 Uragiay 7l §1
1. BT e B Hd TTs AT 760 fob 1. B

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. had [

2. had 11

3. 1 QAT I G

4. GG

Question Number : 31 Question Id : 97675519835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following archaeological site ‘Great Bath’ was found?
Options :

1. # Harappa

2. ¥ Mohenjodaro

3. ¥ Kalibangan

4. % Lothal

Question Number : 31 Question Id : 97675519835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad o 9 ford Qs & & T8 FHIR Ul 1 Y12
Options :

1. % gSW

2. ¢ Higollge!

3. % pratE

4. % YA

Question Number : 32 Question Id : 97675519836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the oldest Veda?
Options :

1. ¥ Rigveda

2. % Samaveda

3. % Yajurveda

4. ¥ Atharvaveda

Question Number : 32 Question Id : 97675519836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # 4 19 9e9 RATIE 82
Options :

1. ¥ g

2. % GHdg

3. % T9dq

4. % 3Jyddq

Question Number : 33 Question Id : 97675519837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. The Buddha taught that karma has no effect on our lives.
II. The Buddha belonged to a small gana known as the Sakya gana.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 33 Question Id : 97675519837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ & 91 YT 9g 22

1. g 7 fRren & o & 1 gAR Sfig R BIg yuTd T8t gl
1L g5 MR A0S Th BIc I 701 § Heiferd Y|
Options :

1. % Had |
2. ¥ Had Il
3. % [ UGl
4. % qEIIATR I

Question Number : 34 Question Id : 97675519838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country hosted the G20 Culture Minister Meeting in July 2021?
Options :

1. % Russia

2. % India

3. % Germany

4. ¥ ltaly



Question Number : 34 Question Id : 97675519838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S[ATs 2021 F fh <=1 7 G20 TP A T 3 93® B Aola1 H12
Options :

1. % ¥4

2. % HRd

3. % ST

4. ¥ 3ot

Question Number : 35 Question Id : 97675519839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of Padma Awards 2021 — Number of awards is correct?

I. Padma Vibhushan — &
II. Padma Shri — 100

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. ¢ Neither I nor 11

Question Number : 35 Question Id : 97675519839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T3] REBR 2021 — REBR] B G BT HafRad § § SH O FH a1 87

L. O fayuor - g
L. 918t — 100
Options :




1. % FHadl
2. % HAd I
3. % [QUT I gl
4. IR

Question Number : 36 Question Id : 97675519840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has launched “Surakshit Hum Surakshit Tum” Abhiyaan.
Options :
1. % RBI
2. % IRDA
3. ¥ NITI Aayog
4. % SBI

Question Number : 36 Question Id : 97675519840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 1 QRférd o i 3= frar g |

Options :

1. % R3S,
2. % 3IR.3RIIT.
3. i SMART
4. % TUHLIE.

Question Number : 37 Question Id : 97675519841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRd & HAGH BT HRT TV BESCIREES
Options :

1. % 9ETRGdl



2. % AT AfYPR
3. ¢ T & Hifd Fdwd da
4, % Y 3R ITP I

Question Number : 37 Question Id : 97675519841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Part IV of the constitution of India deals with
Options :

1. # Citizenship

2. % Fundamental Right

3. ¥ Directive principles of state policy

4. % Union and its territory

Question Number : 38 Question Id : 97675519842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ninth schedule to the Indian constitution was added by
Options :

1. # 42nd Amendment

2. # 8th Amendment

3. % 1st Amendment

4. # 9th Amendment

Question Number : 38 Question Id : 97675519842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTg Gfyer o At S EEANKISIRIERT
Options :

1. % 42 91 U=

2. % g G



3.« TYT I
4. % o g IAQNYT

Question Number : 39 Question Id : 97675519843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Karnam Malleswari is associated with which sports?
Options :

1. # Boxing

2. ¥ Weightlifting

3. % Football

4. % Chess

Question Number : 39 Question Id : 97675519843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HUIH ARt forg wa 4 Hefid g2
Options :

1. % ST

2. ¥ YRIIAA

3. % Godld

4. % A

Question Number : 40 Question Id : 97675519844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Leander Paes won bronze in Olympics?
Options :

1. % 2000

2. % 1988

3. % 1996



4. % 1992

Question Number : 40 Question Id : 97675519844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U A g av & Siicifiey H i uges SidT Y12

Options :
1. * 2000
2. % 1988
3. ¥ 1996
4. % 1992
Arithmetic Ability
Group Number : 3
Group Id : 976755662
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 9767551092
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551267
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675519845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the unit digit of 384%212

Options :

1.¥4

2. % 6

3.% 2

4. % 8

Question Number : 41 Question Id : 97675519845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
384221 BT 3BT 3 57

Options :

1.¥ 4

2.% 6

3.% 2

4. % 8

Question Number : 42 Question Id : 97675519846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of

~f0.0196

Options :



1.+ 0.14
2.% 14
3. % 0.014
4. % 0.0014

Question Number : 42 Question Id : 97675519846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

~f0.0196

BT HH H1 52
Options :
1.4 0.14
2.% 14

3. % 0.014

4. % 0.0014

Question Number : 43 Question Id : 97675519847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the number 8686AS is divisible by 11, then what is the value of A?
Options :

1. %5

2.%0

3.1

4. % 3

Question Number : 43 Question Id : 97675519847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i TJT 8686A5, 11 T fAUTI B, dl A BT HF R 22
Options :



1. %5
2.%0
3.¢¥1
4. %3

Question Number : 44 Question Id : 97675519848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of

(7+/5+ 245 )% (547 +247)
~140

Options :
1. % 35/2
2. % 63/4
3. ¥ 63/2
4. % 35/4

Question Number : 44 Question Id : 97675519848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(74/5+ zﬁ]x(sﬁuﬁ]

/140
T HH T 82
Options :
1. % 3502
2. % 63/4
3.¢ 63/2

4. % 35/4



Question Number : 45 Question Id : 97675519849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student was asked to multiply a number by 3/5. By mistake he divided it by 3/5. If the result was 576 more than the correct number, then what
is the number?

Options :
1. % 180
2. % 360
3.9 540
4. % 720

Question Number : 45 Question Id : 97675519849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh BTH &1 Ueh RSN Dl 3/5 F 0N HRA Dl Hgl T U7 TeAdt § 394, 39 3/5 ¥ faurfora & faan| afe ufkom, w&) e 3 576 3ifde o,
) T T 82

Options :

1. % 180

2. % 360

3. ¢ 540

4. % 720

Question Number : 46 Question Id : 97675519850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After a discount of 15 percent an article is sold for Rs. 2720. What is the marked price of the article?
Options :

1. * Rs. 3300

2. % Rs. 3400

3. % Rs. 3000

4. ¥ Rs. 3200



Question Number : 46 Question Id : 97675519850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 Tf=Id &1 Be & d1¢ T axq dI 2720 U H o141 ST 5 | G &1 3ifohd Ted F1 62
Options :

1. % 3300 300
2. % 3400 39U
3. % 3000 39U
4. ¥ 3200 3T

Question Number : 47 Question Id : 97675519851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I[f M =120 and N = 150, then M is how much percentage less than N?
Options :

1. # 10 percent

2. % 15 percent

3. % 20 percent

4. % 25 percent

Question Number : 47 Question Id : 97675519851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i M = 120 AUTN = 150 &, AT M, N I fora Ufe=rd & 87
Options :

1. % 10 Yfd=rd

2. % 15 Yfd=rd

3. ¢ 20 Ufd=rd

4. % 25 gfa=rd

Question Number : 48 Question Id : 97675519852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The radius of a circle is increased by 20 percent. What will be the percentage increase in its area?
Options :

1. ¥ 44 percent

2. # 40 percent

3. % 30 percent

4. # 50 percent

Question Number : 48 Question Id : 97675519852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I D1 01 BT 20 UTIRIT I TG T 8 | 3D B H fava- Ufe=Id &1 gfg grie
Options :

1. ¥ 44 gfaerd

2. % 40 yfd=d

3. % 30 yfd=rd

4, % 50 gfa=rd

Question Number : 49 Question Id : 97675519853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 percent of selling price of a table is equal to 1/5 of the cost price of the table. What is the loss percent?
Options :

1. # 5 percent

2. # 8 percent

3. % 10 percent

4. ¥ ( percent

Question Number : 49 Question Id : 97675519853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T Ol & fasha T BT 20 UFA=Td B9l & 969 T & 1/5 & SRI6R g | B1 Ufa=id &1 82

Options :

Question Number : 50 Question Id : 97675519854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of copper and zinc in brass is 15 : 10. How much amount of copper will be there in 250 kg of brass?
Options :

1. ¥ 150 kg

2. % 145kg

3. % 120 kg

4. % 130 kg

Question Number : 50 Question Id : 97675519854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

diad B dfa qUT SR &7 ST 15 ¢ 10 § 1 250 .71, diaa § i &t A fosat gifle
Options :

1. ¢ 150 foo 4T,

2. % 145 fb A1

3. % 120 fbam.

4. % 130 fp AT,

Question Number : 51 Question Id : 97675519855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three numbers A, B and C are in the ratio of 5 : 4 : 3 respectively. If the value of C is 18 less than the sum of A and B, then what is the value of
B?



Options :
1. ¥ 12
2. % 15
3.9
4. % 18

Question Number : 51 Question Id : 97675519855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 TREATT A, B TUT C BT UM HH: 5: 4 : 381 TG CHTHAM, ATATB H AN Y 18 HH , Al B BT HH a1 82
Options :

1. % 12

2. % 15

3.%9

4. % 18

Question Number : 52 Question Id : 97675519856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a certain sum of money becomes double of itself in 7 years 4 months at simple interest, then what will be the annual rate of interest?
Options :

1. ¥ 13.64 percent

2. * 14.28 percent

3. # 15.18 percent

4. * 16.22 percent

Question Number : 52 Question Id : 97675519856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 7 oy 4 AR & YR STl R Ueh FfEd 11 W &t SR 81 Tl 8, A &1 1 a1fties &R o gl

Options :



1. ¥ 13.64 Ufd2rd
2. % 1428 Ufa=rd
3. % 15.18 Ufa=rd
4. % 16.22 gfa=rd

Question Number : 53 Question Id : 97675519857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bike covers a distance of 1152 km in 16 hours. What is its speed?
Options :

1. # 10 metre/second

2. # 16 metre/second

3. % 20 metre/second

4, % 30 metre/second

Question Number : 53 Question Id : 97675519857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP S5 1152 fob 1. &1 U R 16 9 B 70 et 8 | STD! A 182
Options :

1. % 10 i/ AHUs
2. % 16 HIAHTS
3. ¢ 20 i AHTS
4. % 30 HIYAHUS

Question Number : 54 Question Id : 97675519858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat can row 25 km in 5 hours in still water. It can row 45 km downstream and 10 km upstream in 15 hours. What is the speed of the stream?
Options :

1. # 5 km/hr



2. ¥ 4 km/hr
3. ¥ 3 km/hr
4. % 2 km/hr

Question Number : 54 Question Id : 97675519858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%m?wﬁsﬁ%ﬁzs%ﬁ.WW%’lw15ﬁéﬁw$&r§@4sﬁs.rﬂ.aww%qﬁﬁ10%:&%%% YRT I
H[B?

Options :

1. % 5. Hl der

2. ¥ 41 =t e

3. % 3 o At /der

4. % o fp M der

Question Number : 55 Question Id : 97675519859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X alone can do a work in 30 days. Y alone can do the same work in 48 days. They work on alternate days one at a time starting with X on the
first day. In how many days the work will be completed?

Options :

1. ¥ 147/4 days
2. % 480/13 days
3. % 510/13 days
4. % 148/5 days

Question Number : 55 Question Id : 97675519859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X B TP BT B 30 A T SR AHaTI g1 Y bl 3! B Dl 48 7 H HR Thdl 81 U8 & X T 3RY FHRdl §U a8 IR-aRT I Ueh-
T fa rd vd § 1 e foban fa1 & qR1 81 Simaeme

Options :



1. ¢ 147/4 T
2. % 480/13 fea
3. % 510/13 a7
4. % 148/5fea

Question Number : 56 Question Id : 97675519860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of the area of a rectangle is 6 times of the value of its length. If length is 2 cm more than the breadth, then what is the area of this
rectangle?

Options :

1. ¥ 48 cm?
2. % 36 cm?
3. % 42 cm?
4. % 38 cm?

Question Number : 56 Question Id : 97675519860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TH AT & AAHA BT A IUD| adls & A &1 6 A1 g | TS daTs, Aems F 2 .4, i 7, df 3iad &1 &% d a1 82

Options :

1. ¥ 48 QM2
2. % 36912
3. % 42QH2
4, % 33 QM2

Question Number : 57 Question Id : 97675519861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Radius of base and height of a solid cone are 28 cm and 14 cm respectively. Cone is melted to form solid spherical balls whose diameter is 7 cm.
How many solid balls can be made?



Options :
1. % 32
2. ¥ 64
3. % 16
4. % 36

Question Number : 57 Question Id : 97675519861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 3 P & YR B T AT S a18 U 28 A, TUT 14 9.1, §1 VP B! TUIATHR S MATBR Tig §T5 715 ¢ Foradhl o 7 9.4,
& | forat 31 71 SIS o Fabel 67

Options :

1. % 32

2. ¥ 64

3. % 16

4.% 36

Question Number : 58 Question Id : 97675519862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the income and saving of six companies.

Company| Income | Saving
P 200 100
Q 400 300
R 300 50
S 800 200
il 600 150
|8 500 350

Expenditure = Income — Saving
Which of the following statement is correct?



I. The average of expenditure of all companies is 275.
II. The ratio of expenditure of company P to the expenditure of company U is 3 : 2.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 58 Question Id : 97675519862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 173 difciT T8 Huf-al B Mg TUT S9d B <l

T KiIE] add

P 200 100
Q 400 300
R 300 50
S 800 200
i 600 150
1} 500 350

T = 3T - §9d

frafafead § ¥ o 91 HY= 98t 82

1. gt Ul o1 3ird o9 275 ]|

I1. SO P o T &1 B U P 99 9 U 3 : 2 B

Options :

1. ¢ $Had |

2. % Had I

3. % [ QYT

4. % ATBIIATSII

Question Number : 59 Question Id : 97675519863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the cost price and value of loss of 8 article.

1200
900
800
600
500 500
400
300 550 300
< 100 150 | [ oo
100
20
| L
Al A2 A3 A4 A5 A6 A7 AS
OCost price ®Loss

Selling Price = Cost Price — Loss
What is the average of selling price of articles A1, AS and A8?

Options :
1. % 350
2. % 300
3. % 250
4. ¥ 400

Question Number : 59 Question Id : 97675519863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fear mar <us fot 8 avgaii & od o qUT 81 & U &1 e=Iidl 5|
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300
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400
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M 150 g
100 ]ﬂ'ﬂz{} B 100
|12

Al A2 A3 A4 A5 A6 AT A8
O %9 Ac9 @e=

fasra geu - U g - g1

Al, A5 TUT A8 T3 & fashd Tl BT SHINTd &1 82
Options :

1. % 350

2. % 300

3. % 250

4. 400

Question Number : 60 Question Id : 97675519864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the production of car and bike by 8 different companies.
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—o—Car = Bike

T1 = The difference between total production of bike and total production of car of all the companies together
T2 = The average of the production of car and bike by company P
What is the value of T2/T1?

Options :
1. % 25
2.¥ 15
3. %20
4. %5

Question Number : 60 Question Id : 97675519864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 25

2.¥ 15

3. %20

4. %5
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General English

Section Id : 9767551093

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 9767551268

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 97675519865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The food supply chain rely(1)/ on a complex web (2)/of interconnected infrastructure (3)/.No error (4)
Options :

1.¥ 1

2. %2

3.%3

4. % 4

Question Number : 61 Question Id : 97675519865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



The food supply chain rely(1)/ on a complex web (2)/of interconnected infrastructure (3)/.No error (4)
Options :

1.9 1

2. % 2

3.%3

4. % 4

Question Number : 62 Question Id : 97675519866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

An avoidance response (1)/ can do real damage (2)/to womens careers (3)/.No error (4)
Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 62 Question Id : 97675519866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

An avoidance response (1)/ can do real damage (2)/to womens careers (3)/.No error (4)
Options :

1. #* 1

2.% 2

3.3

4. % 4

Question Number : 63 Question Id : 97675519867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Much well-known writers in regional language got their works translated.

Options :

1. ¥ Many well-known
2. % Much good-known
3. % Many poorly-known

4. ¥ No improvement

Question Number : 63 Question Id : 97675519867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Much well-known writers in regional language got their works translated.
Options :

1. ¥ Many well-known

2. % Much good-known

3. ¥ Many poorly-known

4. % No improvement

Question Number : 64 Question Id : 97675519868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

No sooner had she finished her dance when the audience clapped.

Options :

1. # dance where the



2. #* dance then the
3. % dance than the

4. ¥ No improvement

Question Number : 64 Question Id : 97675519868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

No sooner had she finished her dance when the audience clapped.

Options :

1. % dance where the
2. % dance then the
3. % dance than the

4. % No improvement

Question Number : 65 Question Id : 97675519869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Your business plan is and lacks a deep understanding.
Options :

1. % logical

2. % explicit

3. % superior

4. ¥ superficial

Question Number : 65 Question Id : 97675519869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



Your business plan is and lacks a deep understanding.
Options :

1. % logical

2. % explicit

3. % superior

4. ¥ superficial

Question Number : 66 Question Id : 97675519870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I did not find a correlation lastic bag reuse and income or political leaning.
Options :

1. ¥ between

2. % among

3. % in

4. # before

Question Number : 66 Question Id : 97675519870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I did not find a correlation lastic bag reuse and income or political leaning.
Options :

1. ¥ between

2. % among

3. % in

4. % before

Question Number : 67 Question Id : 97675519871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Never sponsored by great political

P: the millennium preceding the Common Era

Q: through inherent efficiency and because the Aramaeans
R: power, the Aramaic script and language succeeded

S: were vigorous traders and extensive travellers in

Options :

1. # SQRP
2. ¥ RQSP
3. % SPRQ
4. % QSPR

Question Number : 67 Question Id : 97675519871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Never sponsored by great political

P: the millennium preceding the Common Era

Q: through inherent efficiency and because the Aramaeans
R: power, the Aramaic script and language succeeded

S: were vigorous traders and extensive travellers in

Options :

1. # SQRP
2. ¥ RQSP
3. ¥ SPRQ
4. % QSPR

Question Number : 68 Question Id : 97675519872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.



P: at its peak, the Mongol Empire covered
Q: some 9 million square miles of

R: territory, making it the largest

S: contiguous land empire in world history

Options :

1. # PRQS
2. ¥ PQRS
3. % QPSR
4. % QPRS

Question Number : 68 Question Id : 97675519872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: at its peak, the Mongol Empire covered
Q: some 9 million square miles of

R: territory, making it the largest

S: contiguous land empire in world history

Options :

1. # PRQS
2. ¥ PQRS
3. % QPSR
4. % QPRS

Question Number : 69 Question Id : 97675519873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Humanity
Options :
1. ¥ Mankind



2. * Notion
3. % Apathy
4. % Adulation

Question Number : 69 Question Id : 97675519873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Humanity
Options :

1. ¥ Mankind
2. % Notion

3. % Apathy
4. % Adulation

Question Number : 70 Question Id : 97675519874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Inevitable
Options :

1. ¥ Evadable
2. % Obligatory
3. # Fated

4. % Voluntary

Question Number : 70 Question Id : 97675519874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Inevitable
Options :

1. ¥ Evadable
2. % Obligatory
3. # Fated

4. % Voluntary

Question Number : 71 Question Id : 97675519875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Rispect

2. ¥ Respect

3. % Respectt

4. % Recpect

Question Number : 71 Question Id : 97675519875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Rispect

2. ¥ Respect

3. % Respectt

4. ¥ Recpect

Question Number : 72 Question Id : 97675519876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. ¥ Tomorrow
2. * Tomorow
3. # Toomorrow

4. % Tommorow

Question Number : 72 Question Id : 97675519876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Tomorrow

2. % Tomorow

3. % Toomorrow

4. % Tommorow

Question Number : 73 Question Id : 97675519877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Go under the knife

Options :

1. # To play the fool

2. % To harass

3. % To have a medical operation

4. # Pretend to not know something

Question Number : 73 Question Id : 97675519877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Go under the knife



Options :

1. # To play the fool

2. # To harass

3. % To have a medical operation

4. # Pretend to not know something

Question Number : 74 Question Id : 97675519878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To beat a retreat

Options :

1. # To hide from what one has done
2. # To take important decisions

3. % To leave quickly

4. % To ask for time to decide

Question Number : 74 Question Id : 97675519878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To beat a retreat

Options :

1. # To hide from what one has done
2. % To take important decisions

3. ¥ To leave quickly

4. % To ask for time to decide

Question Number : 75 Question Id : 97675519879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that can substitute the given sentence.

A study of interrelationship of organism and their environments
Options :

1. # Biology

2. % Biotech

3. # Environment

4. ¥ Ecology

Question Number : 75 Question Id : 97675519879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A study of interrelationship of organism and their environments
Options :

1. * Biology

2. % Biotech

3. # Environment

4. ¥ Ecology

Sub-Section Number : 2
Sub-Section Id : 9767551269
Question Shuffling Allowed : Yes

Question Id : 97675519880 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Philosophy of education, philosophical reflection on the nature, aims, and problems of education. The philosophy of education is Janus-faced,
looking both inward to the parent discipline of philosophy and outward to educational practice. (In this respect it is like other areas of “applied”
philosophy, such as the philosophy of law, the philosophy of science, and the philosophy of medicine, including bioethics). This dual focus
requires it to work on both sides of the traditional divide between theory and practice, taking as its subject matter both basic philosophical issues
(e.g., the nature of knowledge) and more specific issues arising from educational practice (e.g., the desirability of standardized testing). These



practical issues, in turn, have implications for a variety of long-standing philosophical problems in epistemology, metaphysics, ethics, and
political philosophy. In addressing these many issues and problems, the philosopher of education strives for conceptual clarity, argumentative
rigour, and informed valuation.

The history of philosophy of education is an important source of concerns and issues—as is the history of education itself—for setting the
intellectual agenda of contemporary philosophers of education. Equally relevant is the range of contemporary approaches to the subject.
Although it is not possible here to review systematically either that history or those contemporary approaches, brief sketches of several key
figures are offered next.

The Western philosophical tradition began in ancient Greece, and philosophy of education began with it. The major historical figures developed
philosophical views of education that were embedded in their broader metaphysical, epistemological, ethical, and political theories. The
introduction by Socrates of the “Socratic method” of questioning (see dialectic) began a tradition in which reasoning and the search for reasons
that might justify beliefs, judgments, and actions was (and remains) fundamental; such questioning in turn eventually gave rise to the view that
education should encourage in all students and persons, to the greatest extent possible, the pursuit of the life of reason. This view of the central
place of reason in education has been shared by most of the major figures in the history of philosophy of education, despite the otherwise
substantial differences in their other philosophical views.

Sub questions

Question Number : 76 Question Id : 97675519881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. ¥ Philosophy of education

2. # What is philosophy?

3. % Philosophical views

4. # Philosophical tradition

Question Number : 77 Question Id : 97675519882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why the history of philosophy of education is an important source of concerns and issues?
Options :

1. # To get the brief sketches of several key figures.

2. # To get conceptual clarity, argumentative rigour, and informed valuation.

3. % For setting the intellectual agenda of contemporary philosophers of education.

4. ® Because analyzing the differences between two philosophical ideas can be challenging.



Question Number : 78 Question Id : 97675519883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct synonym of the word ‘rigour’?
Options :

1. # Laxity

2. % Precision

3. # Omission

4. # Benign

Question Number : 79 Question Id : 97675519884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are true as per the given passage?

I. The philosophy of education began with the western philosophical tradition which began in ancient Greece.
II. The philosopher of education doesn’t strive for conceptual clarity.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. # Neither I nor II

Question Number : 80 Question Id : 97675519885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the phrase ‘Janus-faced’ implies here?
Options :

1. % Having no point of view on any matter

2. ¥ Having different faces for different approaches
3. % Having more than one face

4. # Having no real meaning



Question Id : 97675519880 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Philosophy of education, philosophical reflection on the nature, aims, and problems of education. The philosophy of education is Janus-faced,
looking both inward to the parent discipline of philosophy and outward to educational practice. (In this respect it is like other areas of “applied”
philosophy, such as the philosophy of law, the philosophy of science, and the philosophy of medicine, including bioethics). This dual focus
requires it to work on both sides of the traditional divide between theory and practice, taking as its subject matter both basic philosophical issues
(e.g., the nature of knowledge) and more specific issues arising from educational practice (e.g., the desirability of standardized testing). These
practical issues, in turn, have implications for a variety of long-standing philosophical problems in epistemology, metaphysics, ethics, and
political philosophy. In addressing these many issues and problems, the philosopher of education strives for conceptual clarity, argumentative
rigour, and informed valuation.

The history of philosophy of education is an important source of concerns and issues—as is the history of education itself—for setting the
intellectual agenda of contemporary philosophers of education. Equally relevant is the range of contemporary approaches to the subject.
Although it is not possible here to review systematically either that history or those contemporary approaches, brief sketches of several key
figures are offered next.

The Western philosophical tradition began in ancient Greece, and philosophy of education began with it. The major historical figures developed
philosophical views of education that were embedded in their broader metaphysical, epistemological, ethical, and political theories. The
introduction by Socrates of the “Socratic method” of questioning (see dialectic) began a tradition in which reasoning and the search for reasons
that might justify beliefs, judgments, and actions was (and remains) fundamental; such questioning in turn eventually gave rise to the view that
education should encourage in all students and persons, to the greatest extent possible, the pursuit of the life of reason. This view of the central
place of reason in education has been shared by most of the major figures in the history of philosophy of education, despite the otherwise
substantial differences in their other philosophical views.

Sub questions

Question Number : 76 Question Id : 97675519881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. ¥ Philosophy of education

2. % What is philosophy?

3. # Philosophical views

4. % Philosophical tradition



Question Number : 77 Question Id : 97675519882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why the history of philosophy of education is an important source of concerns and issues?
Options :

1. # To get the brief sketches of several key figures.

2. # To get conceptual clarity, argumentative rigour, and informed valuation.

3. ¥ For setting the intellectual agenda of contemporary philosophers of education.

4. % Because analyzing the differences between two philosophical ideas can be challenging.

Question Number : 78 Question Id : 97675519883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct synonym of the word ‘rigour’?
Options :

1. # Laxity

2. ¥ Precision

3. % Omission

4. % Benign

Question Number : 79 Question Id : 97675519884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are true as per the given passage?

I. The philosophy of education began with the western philosophical tradition which began in ancient Greece.
II. The philosopher of education doesn’t strive for conceptual clarity.

Options :

1. % Only I

2. % Only II

3. # BothIand I
4. ® Neither I nor I



Question Number : 80 Question Id : 97675519885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the phrase ‘Janus-faced’ implies here?
Options :

1. * Having no point of view on any matter

2. ¥ Having different faces for different approaches

3. # Having more than one face

4. % Having no real meaning

General Hindi

Group Number : 5

Group Id : 976755664

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi

Section Id : 9767551094

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes



Sub-Section Number : 1
Sub-Section Id : 9767551270
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 97675519886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT TTQ Tsg 7 IUf T B

3Ud-
Options :
1. = 34
2.% 3
3.3U
4, % dq

Question Number : 81 Question Id : 97675519886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T T4 X8 BT SUNT I B |

3Ud-
Options :
1. % 3U
2.% 3
3. 30
4, % d-

Question Number : 82 Question Id : 97675519887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e a1 | forar 31 Sifomg|



I faemerg § o 3m|
Options :

1. % gHd®H

2. v HgH

3. % HHD

4. % g

Question Number : 82 Question Id : 97675519887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu ¢ e | foban 39 ST
A faee | die Sm|

Options :

1. % ghHd
2. UG
3. % 3fpUd
4. % {qMHY

Question Number : 83 Question Id : 97675519888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT U Trec} 1 I J1d B
fagga + 2fda

Options :

1. % faggafad
2. % fagaifad

3. % faqgewid
4. ¢ fagg=siad



Question Number : 83 Question Id : 97675519888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT U Trec} 1 I J1d B
fagga + 2fda

Options :

1. % faggaxifad
2. % fagaxifad

3. % faqgewid
4. ¢ fagg=siad

Question Number : 84 Question Id : 97675519889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pl wse &1 yafgar 18} 2, J1d S|

Yd
Options :
1. % glad
2. % HUfay
3. ¥ Xdddt
4. % R

Question Number : 84 Question Id : 97675519889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prafifed Ise &1 yafgard 98 8, 31d S|

e
Options :

1. % Sad



2. % gufdy
3.« Tdddl
4, % FgHQr

Question Number : 85 Question Id : 97675519890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3U 7Y <rec] H Y[ I BT 99 DI
Options :

1. % gqrHA-

2. % A

3. % TR

4.« THIMA

Question Number : 85 Question Id : 97675519890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U Trec) B Peg A 1 T BT
Options :

1. # gHIA

2. % WA

3. % R

4, ¥ QHIH

Question Number : 86 Question Id : 97675519891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T Wsg T I Wee I BT
oy

Options :



1. % 3Ol
2. % 30T
3. % faTqum
4. g9

Question Number : 86 Question Id : 97675519891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T g 1 faeh| s F1d FIfTI
oy

Options :

1. % AHqIu
2. % SA[OT
3. % faTqum
4.9 v

Question Number : 87 Question Id : 97675519892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77T sg T o1 Ta! e T F1d BT
3ffet : 3Tt

Options :

1.« U7 T
2. % fepdl: dix
3.”@3:%
4.”9@:@?

Question Number : 87 Question Id : 97675519892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f3U 77T sg T o1 Ta! e T F1d BT
3feT - 3Tett

Options :

1. U7 T
2. ® femd): Wi
3. % A : fepdl
4. % g4 qRd

Question Number : 88 Question Id : 97675519893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fSU 77T 919 &1 FH1d J1d P
ERECRIEEI

Options :

1. % gd 8g YdbId
2. % 3quf Yddrd
3. % guf Ydord
4. ¢ GieT YdbTd

Question Number : 88 Question Id : 97675519893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T aTeRr 1 STt AT BT |

g9 Bc TS ghftl
Options :

1. % gq 8q YdPbId
2. % 3quf Ydora
3. % QU Yddbra
4. ¢ faTy YT



Question Number : 89 Question Id : 97675519894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferfed arel # 9 TR a1 J1d Bifere|
Options :

1. ¥ IHT HR T TR |

2. % AT 373 3R Il T |

3. % S IOHT 3MTS, 98 Il Ts |

4. % AT TS Y I8 T TS Y|

Question Number : 89 Question Id : 97675519894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad gt # 9 IR aTer J1d SBifoTT|
Options :

1. ¢ AT AR Fet T |

2. % OHT 3173 3R Il TS|

3. % S YA 1S, I8 =l T |

4. % OHT 3T <l 98 Tl TS A

Question Number : 90 Question Id : 97675519895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad areil B 9§ Tgod d1e J1d BT
Options :

1. * TS & g4 el fdM W ¢ = US|

2. % SIS A g F Sl fewms a9 g e Ta US|
3. % S TS A gX1 ISl fawTs a9 ¢ I uat|

4. ¢ TS A g8 Sl faars SR ¢ Ia Ut




Question Number : 90 Question Id : 97675519895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad areil & 9 Tgad a1e J1d BT
Options :

1. % TS & g S fag™ R ¢ et US|

2. % SIS A g ST fiewrs o g e Ta US|
3. % SIS A g3 ST TS a9 o I US|

4. ¢ TS A g Sl TS ok ¢ 7t US|

Question Number : 91 Question Id : 97675519896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7TQ arRr § Ifrd TR &1 99+ X Rad RIF 31 il Do |
NEET] R

Options :
.43

2. % &I

3. %4

4. % o fou

Question Number : 91 Question Id : 97675519896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fw Tu are 7 I Rl o1 T B Rad =M 3t gfd S|
dleT 3d iR

Options :
1.¥ 9
2. % @Dl
3.% 1



4. % Hfomu

Question Number : 92 Question Id : 97675519897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T a1 ¥ Iuged AR forg &1 =994 piforu|
3R UTE gH T&1 96 sl

Options :
1. *

b

2.9 |
3.%

4. % _

Question Number : 92 Question Id : 97675519897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T a1 § Iuged AR forg &1 =994 Hifou|
3R UTE gH T&1 96 STafl|

Options :
1. *

b

2.9 |
3.%

4. % _

Question Number : 93 Question Id : 97675519898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T a1 § Iuged AR forg &1 =94 Hifor|
A IS A ARE




Options :

1. % —;
2. % .9
3. -9
4. % - |

Question Number : 93 Question Id : 97675519898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T gty T Iuged favm forg &1 994 Fifo|
IS A ARE

Options :
1. % —;
2. % .9
3. -9

4. % |

Question Number : 94 Question Id : 97675519899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 0 aR fawedl 5 9, 39 fawed &1 999 o 1 faU 0 GgTak & 31 &1 498 T ¥ ad Rl 5|

¥ dob 1 AHTAT

Options :

1. % q¥ bl

2. ® dldﬁ@l&}l-d@ldﬂ el
3. ¥ Udhe AT

4, % Wd Pl

Question Number : 94 Question Id : 97675519899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl & 9, 39 faded o7 9o 3 ot fT 7T gerer & 31 &1 a9y U I oJad HRal g |

TR dob « HIAT

Options :

1. & qF hAT

2. % §1d DI d¢I-IGIHR D]
3.V YBHC TG

4, % QG PAT

Question Number : 95 Question Id : 97675519900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 70 aR fawedl § 9, 39 fawed &1 999 o S fau 0 GgTak & 3 &1 a98 ¥ 4 ad Rl 5|
DI DI HISI

Options :

1. % TMHTFGMT

2. % SO T SA9R BT
3. % Y WHR HAT
4. ¢ Hafdd B BT RIM

Question Number : 95 Question Id : 97675519900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl § 9, 39 fawed o1 9o 3 ot fT 70 gerer & 31 &1 a9y U ¥ oJad HRal g |

o

BT D BB
Options :

1. % QMU IS

2. % S SAGR HRAT
3. % Y WHR HAT




4. ¥ FHdlpd giF BT R

Sub-Section Number : 2
Sub-Section Id : 9767551271
Question Shuffling Allowed : Yes

Question Id : 97675519901 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TS T T T | IR O STYR WR Ui Uy T 7Y € | I &1 e9Yad U aul Ui Uy H 9R fawedl 8 ¥ Tel faewed |

g TguuT At 3TN a1 TR-3MeNfies foramd § S Ags, el 3R UIsii & Wareg W 9gd ¥ S 4 fafts eaf Wil o gRT iaret Uet
TP YT Rl ¢ | G Ugu0r 39 TS & I BiaT & ofd TiaRul H Sfars $1 W) THI TR 3§ 9gd TS gial o | & &1 TR
HINH 3R TR-SNDH Wl b HRUIGAT & | & & S Tl & aof T HTH HR aIell 3o db-iih] b ol AR IR 9gd o
I H St 3irarst U A arelt IR fid 81 YR H 9gd il af Ty UedieRur, snyfe T, SienfisiaRur 3ife & gR1
TG | 3MTS IR o s wald &l o 4 U AR T il &7 [awg &+ T & | TaiaR 0T GR&f SMfAfFTH 1996 & Sf=ia eaf+ Ugyur Fsor
g 2000 T GF TGHU B TG g3 THET B AT B & o e fovan 8 1 ulkag & Quft weq & a1 $ifdies A | ety Iad
B &1 T T eaf-ugur A & 1T waf-fIgi are ST U § 1 IS Y 24907 & 80 SRy Sl € S SUre B 3raTS
A9 9% 718} B Gohdl g | 0 9 25 SRITd IR ifa I o1 3MTaTet I M= BT aTaTeRT IgdT 8 | i UgyUT 3 3% Wid, THTd 3R &@af
TGN 1 Ap & U &b IR T THR ST &1 I el Saaddl Bl At fasar g

Sub questions

Question Number : 96 Question Id : 97675519902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS D1 aUT & fha! SRIEd gt 82
Options :

1. ® 24

2. ¥ 80

3.0

4. %70

Question Number : 97 Question Id : 97675519903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fore fRufer o af Ugum &t fRUfd I gielt 52
Options :

1. % 3 Y AT TR R

2. ¥ HHHG ¥ 3 TR

3. % AR Y HERI TR

4. % i F 3Mfed TR

Question Number : 98 Question Id : 97675519904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fep=1 =11 3 eaf fagie arg s B2
Options :

1. % I gl

2. % gfgmoft d=m

3. % gdf =i

4. ¢ ufgyef <=y

Question Number : 99 Question Id : 97675519905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA B 31 @l &t RS frad sRo STd g3 32
Options :

1. ¢ SRNATBIHRT

2. % 3ficIer

3. % T

4. % qgueft

Question Number : 100 Question Id : 97675519906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR HT IUGed NS 1 g2



Options :

1. # dcble] HARYh d]
2. = HH ST dl
3. ¥ @i gyl

4, % JMYHD JIT

Question Id : 97675519901 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TS TSI T 1 | TR o TR WR Uie U fau 7 § | TRl &1 eagdes Ue a1 A Uy H IR fawedl § § UE fadwen g |

g TguUT At 3TN a1 TR-3eNfies fopamd & S Ags, el 3R UIaif 3 TaTeg IR §gd ¥ S § fafts eaf Wil & gRT Haret Uet
TP YT HRll ¢ | G Ugu0T 39 FRUTT & I BiaT 8 ofd TiaRur H Sf1ars] $1 W) IHI TR I 9gd 1D gial o | & &1 TR
HINH 3R TR-SNTDH Wl b HRUIGAT & | & o S Tl & aof T HTH HR aIehl S db-iah] b dol AR 3R 9gd o
I A St 3irarst UeT A arelt IR Wfid g1 YR H 9gd i af Tguur UeieRur, snyfe T, SieNfisidRur 3if & gR1
TGI8 | TS AR & s Tld 81 o O I AR A Toid1 HT faw o+ 71 § | Tafaror GReafm SiIfad 1996 o S=id et Tgur Fesor
a9 2000 HT af TEHU BT Fgdt g3 THA Bl AT B & ford i foan g1 ufkaga & it areq & o sif¥ies wmn | afy I
X 5 | Ui <=1 H @af-uguur A% & o @afA-fagi aTee ST U § | A Bt 4auT & 80 SRS Bl & SUY SaIal Bt {TaTSt
A 9G] X Gdhdl g1 0 T 25 SR W ifd o BT ATATS! I MM+ BT ITATER0T gl & | & TG0 - 39 wWd, UHTE 3R @
TGNl Bl A & IUT & TR T YT STl B aabTd Sa<adhdl & T [ g

Sub questions

Question Number : 96 Question Id : 97675519902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T &1 Y01 & fha- STad gid o7
Options :

1. % 24

2.9 80

3.0

4. %70

Question Number : 97 Question Id : 97675519903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fore fRufa o eafx ugomr &t fRUfa st gt 32
Options :

1. % 3P T YT TR W

2. ¢ FHET Y 3YH TR

3. % AN I g TR

4. % YR I YR TR

Question Number : 98 Question Id : 97675519904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fop1 =11 A &3l fage g R §2
Options :

1. % I oul

2. % gfgroft <=n

3. % gdf gz

4. g3y =0

Question Number : 99 Question Id : 97675519905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA | 31 @i &t RS frad sRU STd g3 32
Options :

1. ¢ DB

2. % 3figlad

3. % T

4. % qgueft

Question Number : 100 Question Id : 97675519906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SUYR TR T Jugar XM o1 g
Options :

1. ® JhTdl TAD

2. % Y SNl

3. ¢ @ UGyl

4. % YD TR
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Group Id : 976755665
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Section Id : 9767551095
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Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
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Question Shuffling Allowed : Yes



Question Number : 101 Question Id : 97675519907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which invention of James Hargreaves contributed to industrial revolution in the 18th century?
Options :

1. # Electric grid

2. % Flying shuttle

3. % Steam engine

4. ¥ Spinning Jenny

Question Number : 101 Question Id : 97675519907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

189} TrdTec H SR g & ford SnfawpR 3 shenfiies swifa & avrer far ur
Options :

1. % faggd e

2. % TR e

3. % YO &I 3o

4. YT S

Question Number : 102 Question Id : 97675519908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kisan Sabha movement started in Bihar under the leadership of
Options :

1. # Dayanand Saraswati

2. % Swami Sahajanand Saraswati

3. % N.G. Ranga

4. # V.D. Sarvarkar

Question Number : 102 Question Id : 97675519908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fagR o foram 9T siigieaH & A T Y= g1 AT
Options :

1. % TS Il

2. W FEeIic IRl

3. % TS I

4, % 41 31, ARARHR

Question Number : 103 Question Id : 97675519909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the Santhal Rebellion of 18557

L. It was a rebellion against the British colonial authority and against the zamindars.
II. It took place at present day Jharkhand and part of West Bengal.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 103 Question Id : 97675519909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1855 & GUTd fagig & ded A Ffifla d Y s ar sy I8 82

1. I8 fafew Sufash witeur & faams iR SHieR! & faams ue fagis ol
I1. I8 TIHM & IRYS 3R UFH S & fexd § ufed gam o |

Options :

1. % PHadl

2. % HAd II




3. 13U 11 Sl
4. % qIEIIATSIII

Question Number : 104 Question Id : 97675519910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 1815, Napoleon was defeated at
Options :

1. ¥ Waterloo

2. # Cairo

3. % Bassano del Grappa

4. # Krasnoi

Question Number : 104 Question Id : 97675519910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1815 H, AUIfera ! H uR1fSrd fobam T i
Options :

1. ¥ dIcq]

2. % BRI

3. % SIESd Ju

4. % BRAS

Question Number : 105 Question Id : 97675519911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which country declared war on France in 1803?
Options :

1. ¥ Britain

2. % Spain

3. % Switzerland



4. % Austria

Question Number : 105 Question Id : 97675519911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1803 T b d <=1 A Wi & RIAT® g B AWM Pt i
Options :

1. ¢ fored

2. % W

3. % fQCoRdS

\

4. % IARcar

~

Question Number : 106 Question Id : 97675519912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The king Louis X VI call for Estates general was due to the financial crisis in the
Options :

1. ¥ 1780s

2. % 1790s

3. % 1770s

4. % 1760s

Question Number : 106 Question Id : 97675519912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT XVIA  H ol dde & SR IS SR &1 7R B
Options :

1. ¢ 1780 & GR[PH

2. % 1790 & GRIH

3. % 1770 &SP

4. % 1760 & G




Question Number : 107 Question Id : 97675519913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fPaad &, q8 X VI A T & WX H Ha Jawdl &I Haiid fordr ur
Options :

1. * 1781

2. % 1784

3. ¥ 1787

4. % 1789

Question Number : 107 Question Id : 97675519913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, did Louis XVI exile noble members to the town of Troyes?
Options :

1. % 1781

2. % 1784

3.9 1787

4. % 1789

Question Number : 108 Question Id : 97675519914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What among the following were the causes of the French Revolution?

I. Financial Crisis
II. Aristocratic Revolution
II1. Emergence of Marie Antoinette

Options :

1. ® Only I
2. ¥ Tand II
3. % Il and III



4. % Only III

Question Number : 108 Question Id : 97675519914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafoiRad # O iRt wifd & BRI a7 U2

1. fo<ilg Ibe

1L i Shifd

111 B TERT BT I
Options :

1. % Had 1

2. ¥ AU

3. % 1 dUTIII
4. % Had III

Question Number : 109 Question Id : 97675519915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who introduced “Doctrine of Lapse™?
Options :

1. # Lord Hastings

2. # Lord Irwin

3. # Lord Clive

4. ¥ Lord Dalhousie

Question Number : 109 Question Id : 97675519915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“foerg ifa fora agr ot &t
Options :

1. % dis g™



2. % dis RfaA
3. % dlS FlIgd
4. ¢ IS SAgIoN

Question Number : 110 Question Id : 97675519916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was Lucknow recaptured by the British?
Options :

1. ¥ March 1858

2. % May 1857

3. * June 1858

4. % July 1857

Question Number : 110 Question Id : 97675519916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS gRT T3, G: TUBR T e forar wam T
Options :

1. v T 1858

2. % T 1857

3. % T 1858

4. % JATS 1857

Question Number : 111 Question Id : 97675519917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the time of announcement of partition of Bengal, who was the Viceroy of India?
Options :

1. # Lord Irwin

2. % Lord Curzon



3. # Lord Dufferin
4. % Lord Dalhousie

Question Number : 111 Question Id : 97675519917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS fAUTS BT G0N & THY YR & AR B 3 2
Options :

1. % A8 RfaA

2. ¢ QIS B

3. % qle SBRA

4. % S SRS

Question Number : 112 Question Id : 97675519918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Gandhi-Irwin Pact was signed in
Options :

1. % 1928

2. %1929

3.9 1931

4. % 1932

Question Number : 112 Question Id : 97675519918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TTie-SRIGH FHsid W ¥ g&MeR fpym Al
Options :

1. % 1928

2. % 1929

3.9 1931



4. % 1932

Question Number : 113 Question Id : 97675519919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first female president of the Indian National Congress?
Options :

1. # Sarojini Naidu

2. % Annie Besant

3. # Kasturba Gandhi

4. % Aruna Ali

Question Number : 113 Question Id : 97675519919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST B9 b1 Ugell Aiger sreae HI ot 2
Options :

1. % TR TG

2. ¥ T a¥e

3. % H&Ra it

4. % 3rBUT il

Question Number : 114 Question Id : 97675519920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where was Bal Gangadhar Tilak imprisoned in 1908 where he served six years of imprisonment?
Options :

1. ¥ Mandalay

2. % Rangoon

3. % Kalapaani

4. ® Yerwada



Question Number : 114 Question Id : 97675519920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1908 T ST TTMER fiietes BT BT b [T TR AT, W51 351 B8 ay ! ol dret o
Options :

1. ¥ Higd

2. % A

3. % HIATA!

4. % gxdqal

Question Number : 115 Question Id : 97675519921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, did the famous Surat Split of the Indian National Congress happen?
Options :

1. % 1907

2. % 1908

3. % 1909

4. % 1910

Question Number : 115 Question Id : 97675519921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ford oy & WY ISHT B BT URYes: XA FAHTSH goim r?
Options :

1. ¥ 1907

2. % 1908

3. % 1909

4. % 1910



Question Number : 116 Question Id : 97675519922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the founder of the Bolshevik party?
Options :

1. # Lev Kamenev

2. % Mikhail Olminsky

3. # Anatoly Lunacharsky

4. ¥ Vladimir Lenin

Question Number : 116 Question Id : 97675519922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IeRITIP UTet & TRITAD B A2
Options :

1. % Od HIH-d

2. % fIRgd SfifcT=!

3. % THAICIAl AR

4. ¥ TGHR A

Question Number : 117 Question Id : 97675519923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the Russian revolution, a Council of Workers' Deputies also named as
Options :

1. ¥ Soviet

2. % Duma

3. ¥ Zemstvos

4. % Boyar

Question Number : 117 Question Id : 97675519923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

=4l Bifd & GRM, AoIg] & U H TH URNe I & ®g H off 1fid fear mar i
Options :

1. ¢ Gifaad

2. % SJHI

3. % GIRCAN

4. % IR

Question Number : 118 Question Id : 97675519924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The revolution in Russia became a "dress rehearsal" for the 1917 Revolution.
Options :

1. * 1912

2. % 1905

3. % 1910

4. % 1907

Question Number : 118 Question Id : 97675519924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I H &1 pifd, 1917 B hifd & forg g9 Reda" SR |
Options :

1. ® 1912

2. % 1905

3. % 1910

4. % 1907

Question Number : 119 Question Id : 97675519925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After 1905, revolution in Russia till when the time of great repression continued when many revolutionaries were arrested and workers



organization destroyed?
Options :
1. ¥ 1911
2. % 1912
3. % 1908
4. % 1913

Question Number : 119 Question Id : 97675519925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 1911

2. % 1912

3. % 1908

4. % 1913

Question Number : 120 Question Id : 97675519926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The book 'The Development of Capitalism in Russia' is written by
Options :

1. * Yuri Samarin

2. # Fyodor Tyutchev

3. ¥ Vladimir Lenin

4. # Aleksey Khomyakov

Question Number : 120 Question Id : 97675519926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g IR

2. % WIGR ¢gcdd
3. ¢ AIGHR i

4. % AR @EATDIG
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Question Number : 121 Question Id : 97675519927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five Year Plans (FYPs) is a centralized plan of which society?
Options :

1. ¥ Socialistic

2. % Capitalistic

3. ¥ Mutualistic

4. % Fascist

Question Number : 121 Question Id : 97675519927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gaqufg GISHTE (FY Ps) ford THTS Bt dhiepd TIoHT 82
Options :

1. ¢ JHTSETE!

2. % Goflard]

3. * EIUBRIAm!

4. % Gritarel

Question Number : 122 Question Id : 97675519928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was the first successful revolution by the working class.
Options :
1. # Compatriots revolution
2. # Jonian revolution
3. ¥ Russian revolution

4. % Nubian Revolution

Question Number : 122 Question Id : 97675519928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % GHGRI pifd

2. % 3TN i

3. ¢ =4 hifd

4. % gfag wifd

Question Number : 123 Question Id : 97675519929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who believed that if the social environment could be reconstructed, then human nature could be transformed?
Options :

1. ¥ Robert Owen

2. # Saint - Simon

3. % Charles Fourier

4. % Proudhon

Question Number : 123 Question Id : 97675519929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ & 3o

2. % Id - grsad

3. % I BRI

4. % gl

Question Number : 124 Question Id : 97675519930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Name the party that called for the establishment of a "dictatorship of the proletariat" in Italy.
Options :

1. # Italian Socialist Party

2. # Ttalian Democratic Party

3. % Italian Republican Party

4. % Ttalian Liberal Party

Question Number : 124 Question Id : 97675519930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ ZaTqd) SHTSarg! et

2. % Al Al diA® grel
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4. % 3drqa foreRe uref

Question Number : 125 Question Id : 97675519931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are the causes for the Rise of Fascism in Italy?

I. Ttalians were disappointed by the Treaty of Versailles.
II. The socio-economic conditions of Italy after the First World War.
II1. Fascists were influenced by the spreading ideology of Socialism and Communism.

Options :

l.¥ TandII

2. % Il and III
3. % Tand III

4. % 1, II and III

Question Number : 125 Question Id : 97675519931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.« 1dYT 11

2. ® 11 dUT I
3. % 1dYUT I
4, % LI dYTIII

Question Number : 126 Question Id : 97675519932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the organization that killed Archduke Francis Ferdinand.
Options :

1. # Straight Hand

2. % Black Hand

3. ¥ White Hand

4. ¥ Upper Hand

Question Number : 126 Question Id : 97675519932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 127 Question Id : 97675519933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the long term cause of French revolution?

I. Increasing prevalence of language of enlightenment.
II. Financial crises.
III. Apposition from oldest noble families.

Options :

1. # Tand II
2. % Il and I
3.9 Tand III
4. % Only I

Question Number : 127 Question Id : 97675519933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
.= Iddl
2. % I dYT I
3.9 TdUT T

4. % Had [

Question Number : 128 Question Id : 97675519934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 1893, which countries formed an entente to counter the Triple Alliance?



Options :

1. ¥ France-Russia

2. % Spain- Hungary

3. % Portugal- Ireland
4. # Austria- Belgium

Question Number : 128 Question Id : 97675519934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Y =9

2. % WA - R

3. % AT - 3TRAS

4. % 3Ry - afeay

Question Number : 129 Question Id : 97675519935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Many treaties were signed during the World War 1. Which of the following is correctly matched?

I. St. Germain Treaty-Austria
II. Versailles treaty- Germany
II1. Neuilly Treaty- Hungary
IV. Trianon Treaty- Turkey

Options :

1.¥ Tand II

2. % Tand III

3. % I, I and III
4, % I, Il and IV

Question Number : 129 Question Id : 97675519935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 13U 11

2. % 14U

3. % I dYT I

4. % [T dUTIV

Question Number : 130 Question Id : 97675519936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1992, more than 100 heads of state met in Rio de Janeiro, Brazil for the first international Earth Summit. This summit was also called
Options :

1. ¥ United Nations Conference on Environment and Development

2. ¥ World Wide Fund For Nature

3. #® United Nations World Tourism Organisation

4. % United Nations High Commission for Refugees

Question Number : 130 Question Id : 97675519936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 131 Question Id : 97675519937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A mechanical stability between the upstanding parts and low lying basins on a rotating earth is called
Options :

1. # Isonyet

2. % Isobar

3. ¥ Isostasy

4. % Isohaline

Question Number : 131 Question Id : 97675519937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TSI

2. % 3SR

3. ¢ STSARCH

4. % SMEHIEAEA

Question Number : 132 Question Id : 97675519938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct example of intrusive igneous rock?
Options :

1. # Obsidian

2. % Andesite

3. % Granite

4. % Basalt



Question Number : 132 Question Id : 97675519938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & @ &9 9 siddel S Ig™ &1 9e! 3aex 67
Options :

1. % SfieHiifET

2. % TS

3. ¢ UTsC

4. % ST

Question Number : 133 Question Id : 97675519939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The whole earth experiences equal days and equal nights on
Options :

1. # 21st June

2. % 22nd December

3. % 21st March

4. % 20th January

Question Number : 133 Question Id : 97675519939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4, % 20 SaR



Question Number : 134 Question Id : 97675519940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists is associated with the ‘supernova hypothesis’ related to the origin of the earth?
Options :

1. # H.N. Russell

2. ¥ F. Hoyle

3. % Bernhardus Varenius

4. % B. Levin

Question Number : 134 Question Id : 97675519940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TOEA. A

2. ¢ U, I

3. % §Figre Y aRf-oY

4. % ot qfa

Question Number : 135 Question Id : 97675519941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the constructive plate margins?

I. These plate margins are also called divergent plate margins.
II. New oceanic crust is continuously formed.

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II



Question Number : 135 Question Id : 97675519941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % Had Il

3. [ QYT ISl

4. % GBI

Question Number : 136 Question Id : 97675519942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is characterized as a cold wind?
Options :

1. ¥ Harmattan

2. ® Sirocco

3. % Mistral

4. ®% Zonda

Question Number : 136 Question Id : 97675519942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gIHeA

2. % RRId!

3. ¢ fireTd



4. % g

Question Number : 137 Question Id : 97675519943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fogs formed due to transport of cold air over a warm surface are
Options :

1. # Ground fogs

2. ¥ Steam fogs

3. # Tropical fogs

4. # Sea fogs

Question Number : 137 Question Id : 97675519943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. ¥ HIU BIE

3. % YU T DIg

4. % TOL DI

Question Number : 138 Question Id : 97675519944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of climate is characterized by general absence of insolation and very low temperature throughout the year?
Options :

1. # Savanna climate

2. # Mediterranean climate

3. ¥ Monsoon climate

4. % Tundra climate



Question Number : 138 Question Id : 97675519944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 139 Question Id : 97675519945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following techniques is used to represent relief on topographical maps?

I. Hachures
II. Hill shading

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 139 Question Id : 97675519945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. % Had Il
3.« 1 QYT I Sl
4. % qIEITAIB I

Question Number : 140 Question Id : 97675519946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When the earth is nearest to the sun, then the northern hemisphere will receive

I. low amount of insolation
II. summer season

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 140 Question Id : 97675519946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 141 Question Id : 97675519947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

North East to South West diagonally oriented climograph represents type of climate.
Options :

1. ®* Dry

2. % Monsoon

3. ® Mediterranean

4. % British



Question Number : 141 Question Id : 97675519947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % h

2. ¢ U

3. % YOEAERY

4. % fafer

Question Number : 142 Question Id : 97675519948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an anthropogenic cause of biodiversity loss?

I. Fragmentation of habitats of species of plants and animals due to deforestation and construction work.
II. Intentional or unintentional introduction of exotic species in an entirely different ecosystem.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 142 Question Id : 97675519948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 143 Question Id : 97675519949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination of salts is correctly sequenced in the descending order of their percentage in the sea water?
Options :

1. # Calcium sulphate, Sodium chloride, Magnesium chloride

2. % Calcium carbonate, Potassium Sulphate, Sodium chloride

3. % Sodium chloride, Magnesium bromide, Magnesium chloride

4. ¥ Sodium chloride, Magnesium chloride, Calcium carbonate

Question Number : 143 Question Id : 97675519949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 144 Question Id : 97675519950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Deccan trap started to form in which of the following periods?
Options :

1. # Silurian period



2. # Cambrian period
3. % Carboniferous period

4. ¥ Cretaceous period

Question Number : 144 Question Id : 97675519950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TIgRad &1

2. % BB 1A

3. % BIEIhRY BId

4. ¢ HICTY DI

Question Number : 145 Question Id : 97675519951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The river Alaknanda originates from which glacier?
Options :

1. ¥ Satopanth glacier

2. % Siachen glacier

3. #¥ Gangotri glacier

4. % Pindari glacier

Question Number : 145 Question Id : 97675519951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Y TARER

2. % T¥1ie TARRR



3. % TATET TWRER
4. % fUSRI wifkrmR

Question Number : 146 Question Id : 97675519952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which horizon in the soil profile is called the topsoil?
Options :

1. % E-horizon

2. % B-horizon

3. ¥ A-horizon

4. % C-horizon

Question Number : 146 Question Id : 97675519952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % E-G&R Rufd

2. % B-OER A

3. ¥ AR fRfd

4. % C-HER fRUfd

Question Number : 147 Question Id : 97675519953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian forest has the lowest forest area in the country?
Options :

1. % Tropical thorny forest

2. ¥ Mangrove forest

3. # Tropical evergreen forest



4. # Alpine and sub-alpine forest

Question Number : 147 Question Id : 97675519953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JUBicaH Bt g

2. ¢ BRI 1
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4. % 3SR JU-3cU1s a

Question Number : 148 Question Id : 97675519954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following states/union territory of India, Karewa soil is found?
Options :

1. % West Bengal

2. # Jharkhand

3. % Tamil Nadu

4. % Jammu and Kashmir

Question Number : 148 Question Id : 97675519954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % g
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Question Number : 149 Question Id : 97675519955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the Greater Himalayas?

I. They receive less rainfall as compared to the Lesser Himalaya and the Shiwaliks.
II. Dhaulagiri mountain range lies in this region.
III. It lies in the south of the Lesser Himalayas.

Options :

1. % Only I

2. % Tand II

3. % Only I
4. % [, 1l and III

Question Number : 149 Question Id : 97675519955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had ]

2. ¥ 1Y

3. % &Had I

4. % [ 11 dYT I

Question Number : 150 Question Id : 97675519956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an economic attribute of population composition?



Options :

1. # Literacy
2. # Sex ratio
3. % Ageing

4. ¥ Occupational structure

Question Number : 150 Question Id : 97675519956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * HI&Rdl

2. % T U

3. % 3Mgdfs
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Question Number : 151 Question Id : 97675519957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which country is the largest exporter of cotton?
Options :

1. # China

2. % Japan

3. % United States of America

4. # France

Question Number : 151 Question Id : 97675519957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % P9

2. % §UH

3. ¢ Yo ST SARBT
4. % 1Y

Question Number : 152 Question Id : 97675519958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the Losch theory of profit maximisation?

I. Industrial location is characterized by conditions of monopolistic competition.
II. Demand is considered the most important variable in the location of an industry.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 152 Question Id : 97675519958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT B aHBI & AT Rigid & JeH & Fufrad & T o a1 HyT 98 82

L. 3T SrafRufa TRt ufaafiar @t fRufqat grr siftrafaa g 81
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Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATR I

Question Number : 153 Question Id : 97675519959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which country is the largest producer of rice?
Options :

1. * Brazil

2. ¥ China

3. % India

4. % Russia

Question Number : 153 Question Id : 97675519959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG BT oA ST IATGH B T ST 22
Options :

1. % sfore

2. ¢ T

3. % HRd

4, % Y

Question Number : 154 Question Id : 97675519960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Bt FEfoiad & § & I =T wad Hiel fig) iR 38 St 82
Options :

1. % \C

2. % Y

3. ¥ oUNH

4. % el

Question Number : 154 Question Id : 97675519960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following fibre crops of India is grown on black soil?
Options :

1. # Jute

2. % Hemp

3. % Cotton

4. % Flax

Question Number : 155 Question Id : 97675519961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the intensive subsistence farming?

I. It is practised in areas of high population pressure on land.
II. All work is done with hand implements.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 155 Question Id : 97675519961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl
2. % HAd Il
3. QYT I gl
4. % qEIIATE I




Question Number : 156 Question Id : 97675519962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is one of the Special Economic Zones (SEZ) in India?
Options :

1. ¥ Kandla Special Economic Zone

2. # Ahmedabad Special Economic Zone

3. # Srinagar Special Economic Zone

4. % Chennai Special Economic Zone

Question Number : 156 Question Id : 97675519962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & § o a1 yRd & fary onfifes &7 (g g S F A Tw 72
Options :

1. ¢ Figar faRy o &=

2. % 3rgHaEIE [aRIY ffeh &

3. % iR foRy s &=

4. % o7 faRIY SN &

Question Number : 157 Question Id : 97675519963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

National highway 1 (NH 1) passes through which state/union territory of India?
Options :

1. ® Delhi

2. % Mizoram

3. ¥ Jammu and Kashmir

4. ® Haryana



Question Number : 157 Question Id : 97675519963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST ST 1 (NH 1) HRA & 6 I /g RId UG A g1 T[oiRal 82
Options :

1. % ool

2. % fIeiR|

3. ¢ S 3R HRUR

4. % giegrom

Question Number : 158 Question Id : 97675519964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pacific Tsunami Warning System (PTWS) was set up in
Options :

1. ¥ 1965

2. %1970

3. % 1955

4. % 1960

Question Number : 158 Question Id : 97675519964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URIid AT ddra- gormett (dt & ey we) T =1ftd &1 1
Options :

1. ¥ 1965

2. %1970

3. % 1955

4. % 1960

Question Number : 159 Question Id : 97675519965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of rapid movement landslide?

I. Rock slides
II. Mudflow

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 159 Question Id : 97675519965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed § I &4 91 dig 71 arel YRaaH &1 Th TSR &2

1. b WS

1. AUl
Options :

1. % Had |

2. ¥ Had Il

3. % [ UGl
4. % qEIIATR I

Question Number : 160 Question Id : 97675519966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an endogenous hazards?

I. Volcanic disaster
II. Tsunami
1. Earthquake

Options :
1. % Only Il



2. % Tand 11
3. % TandIII
4. % [ Il and III

Question Number : 160 Question Id : 97675519966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad & ¥ o9 1 Te 3ideiid Wavl g2

1. ST STUa]

1. GATH

11 YbU
Options :

1. % Had 111
2. % 19U
3. % [dUTII
4. 1, 1 QYT 111
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Question Number : 161 Question Id : 97675519967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A typical Community Contingency Plan for disaster management involves which of the following steps?

L. Initial awareness and rapport building
II. Outlining the profile of the community
II1. Capacity building of Task Forces

Options :

1. * Tand II

2. % Only I
3.9 [, Il and III
4. % T and III

Question Number : 161 Question Id : 97675519967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 14Ul

2. % had II
3.9 L ITAUT I
4, % 1dYT I

Question Number : 162 Question Id : 97675519968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of unemployment is present in a rural area?

I. Seasonal unemployment
II. Educated unemployment

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 162 Question Id : 97675519968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ITH0T &7 # g UhR Bt SRISHRY e g2

L. HrgHt SRISATRY
11. Riferd sRIsemt

Options :

1. ¢ $Had |

2. % Had I

3. % [ QYT
4. % qEIIATR I



Question Number : 163 Question Id : 97675519969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sustainable agriculture integrates which of the following goals?

I. Environmental health
II. Economic profitability

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 163 Question Id : 97675519969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Terofig Bt Fafied & 3 59 dea o) Teigd Bl 32

1. TR wrey
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Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 164 Question Id : 97675519970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Non-economic factor which influence economic development is
Options :

1. ¥ Entrepreneurship

2. % Mechanization of Agriculture



3. % Capital Formation

4. ¥ Market Imperfection

Question Number : 164 Question Id : 97675519970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffep P B gHfdd A A AHE T RS Bl
Options :

1. ¢ I

2. % HY BT ARHIDHOT

3. % ot fAmfor

4. % SOIR 3qUid

Question Number : 165 Question Id : 97675519971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following features of Indian economy at the time of Independence is correct?

I. Indian economy was a dependent economy.
II. It carried all the marks of colonialism and imperialism.
III. Agriculture was overcrowded.

Options :

l. # Tand II

2. % Il and IIT
3. % Only I

4. 1,11 and 11T

Question Number : 165 Question Id : 97675519971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WaFdl & IHT HRAI sidfeqawyt &t fAgferfad & T wiH-3t faivar 98l 82
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Options :

1. % 1dYT 1

2. ® 11 dUT I
3. % Bad 1
4.« 111 dYTIII

Question Number : 166 Question Id : 97675519972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The primary sector includes economic activities like

I. Forestry
II. Mining

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 166 Question Id : 97675519972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Bad 1
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R AGUIDIEGI



4. % ATEIIATSII

Question Number : 167 Question Id : 97675519973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The rate of interest at which the central bank makes advances to commercial banks is called
Options :

1. # Exchange rate

2. ¥ Bank rate

3. % Borrowing rate

4. # Repo rate

Question Number : 167 Question Id : 97675519973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 ST &) o R F1g S a1forfcies St o1 s S g, 39 o1 Il G|
Options :

1. % faFma R

2. ¥ 9B W

3. % YR I R

4. % AR

Question Number : 168 Question Id : 97675519974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a qualitative instrument of credit control?
Options :

1. # Cash reserve ratio

2. % Selective credit control

3. ¥ Marginal standing facility

4. % Open Market Operations



Question Number : 168 Question Id : 97675519974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 &1 T thfge fg=01 &t Tuners foradi g2
Options :

1. % qhal SRIad Y srgurd

2. ¥ TUATHSD hiSc =

3. % HiHid Rl gfae

4. % Gl IR URaTe

Question Number : 169 Question Id : 97675519975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All the given banks are public sector banks except
Options :

1. # Punjab and Sind Bank

2. % Bank of India

3. % Indian bank

4. ¥ Yes bank

Question Number : 169 Question Id : 97675519975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% 3faar fieu gt S Irdeie &7 3 B
Options :
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2. % d i S

3. % T dP

4.« Y d&H



Question Number : 170 Question Id : 97675519976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the treasury bills?

L. It is a long term borrowing instruments of the Central Government of India.
II. They mature in less than one year.
II1. They are issued through the commercial banks of India.

Options :

1. # Tand II

2. % Il and III
3.9 Only II

4. % I, 1l and III

Question Number : 170 Question Id : 97675519976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 139U

2. % (13U

3. ¥ Had Il

4. % [ 11 dYUTIII

Question Number : 171 Question Id : 97675519977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the lists that were mentioned in the British Indian Constitution Act of 1935?

I. Concurrent list



II. Provincial list
II1. Union list

Options :

1.¥ Tand II

2. % Il and III
3. % TandIII

4. # I, 1I and III

Question Number : 171 Question Id : 97675519977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 1dUT Il

2. % IIdYTIII
3. % 1TdYT I
4, % I, I dYT I

Question Number : 172 Question Id : 97675519978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of item-list of Indian Constitution is correct?

I. Corporation tax - State list
II. Census - Union list

Options :

1. % Only I

2.9 Only II

3. % BothIandII



4. % Neither [ nor 11

Question Number : 172 Question Id : 97675519978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. ¥ Had Il

3. % [ UGl

4. % qEIIATRIII

Question Number : 173 Question Id : 97675519979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, both the President and the Governors are advised by their
Options :

1. # speakers

2. # administrators

3. % councils of ministers

4. % chief electoral officers

Question Number : 173 Question Id : 97675519979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA ¥, APUF 3R IsTUTe Sl by IFb FIRRRIKARS G
Options :

1. ® AGE

2. ® URTHHI



3.« HEAURYE
4, % QO TG DRI

Question Number : 174 Question Id : 97675519980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The President in India is elected by
Options :

1. ¥ the members of an electoral college
2. % the prime minister only

3. # the speaker of House of the People

4. % chief ministers of the states

Question Number : 174 Question Id : 97675519980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
yRABpufafafes . grifememansg)
Options :

1. ¢ e & gew

2. % Had YYHHA!

3. % QI GHT & HH&

4. % 0] o G

Question Number : 175 Question Id : 97675519981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the symbol of ‘Indian National Lok Dal’ party?
Options :

1. ¥ Spectacles

2. # Lotus

3. # Clock



4. # Hand

Question Number : 175 Question Id : 97675519981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST AR i aar urd] &1 Ueliep s R e?
Options :

1. ¢ I=RHT

2. ® HHA

3. % ggl

4. % gIY

Question Number : 176 Question Id : 97675519982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct regarding Bharatiya Janata Party (BJP)?
Options :

1. ® Its roots can be traced to the Bharatiya Jana Sangh.

2. ¥ BJP was formed in 1990

3. # Atal Bihari Vajpayee was its first President.

4. ® The BJP as a major member of the National Democratic Alliance (NDA) has been heading the central government since 2014.

Question Number : 176 Question Id : 97675519982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 177 Question Id : 97675519983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sharad Pawar is the founding member of
Options :

1. % Samajwadi Party

2. % Bahujan Samaj Party

3. # Rashtriya Janata Dal

4. ¥ Nationalist Congress Party

Question Number : 177 Question Id : 97675519983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IMETAR P TS TS B
Options :

1. % FHSErg] uret

2. % §goi 9IS Uref

3. % PG ST T

4. ¢ yaTel HiUg uref

Question Number : 178 Question Id : 97675519984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the first four general elections in India, which of the following parties has obtained an absolute majority of seats in the parliament?
Options :

1. ¥ Indian National Congress

2. # Bahujan Samaj party

3. % Bharatiya Janata party

4. # Janata party

Question Number : 178 Question Id : 97675519984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ YR AP B

2. % Sgo JHS el

3. % YR SHar aret

4. % S aref

Question Number : 179 Question Id : 97675519985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From late 1960s, non-congress parties formed government in the centre and several states which signify the presence of which of the following
party systems in India?

Options :

1. # One-party system

2. % Two-party system

3. % Multi-party system
4. # Bi-polar system

Question Number : 179 Question Id : 97675519985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Ueb qel1g yormef!
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3. ¢ SgGaid YTt

4. % SI5-UICR JuTTel!



Question Number : 180 Question Id : 97675519986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B3 It B0 Faferied ¥ 4 foy <=1 3 Wefda g2
Options :

1. % Sfeor 3rpieeT

2. ¢ forca

3. % gfere

4. % IS

Question Number : 180 Question Id : 97675519986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘House of Commons’ is associated with which of the following countries?

Options :

1. # South Africa
2. ¥ Britain

3. # Brazil

4. % Venezuela
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Question Number : 181 Question Id : 97675519987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, the councillors of the General body of the municipal corporation are elected for a term of years.
Options :

1. # six

2. % two

3. #* three

4. ¥ five

Question Number : 181 Question Id : 97675519987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 9%

2. % T

3. % diF



4. U

Question Number : 182 Question Id : 97675519988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of Municipal Revenue?
Options :

1. % Tax revenue

2. % QOctroi

3. # Grants-in-aid

4. ¥ Depository receipt

Question Number : 182 Question Id : 97675519988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % CHg oG

2. % i

3. % HelIdl 3dald

4. « TSUrfoIed) 3G

Question Number : 183 Question Id : 97675519989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following types of urban local bodies are found in India?

I. Town Area Committee
II. Containment Boards
II1. Municipalities

Options :
1. ® Tand II



2. % Il and 1L
3. % Jland lII
4.+ 1,11 and III

Question Number : 183 Question Id : 97675519989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® [qUTI

2. % (1Y
3. % [ YT

4. 1 11 dYTIII

Question Number : 184 Question Id : 97675519990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first national elections in the history of Nepal held in
Options :

1. % 1966

2. % 1940

3.9 1959

4. % 1950

Question Number : 184 Question Id : 97675519990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UTel b 3fcgT H TSl AP IHATAl BT ST # fopam T |




Options :
1. % 1966
2. % 1940
3. ¥ 1959
4. % 1950

Question Number : 185 Question Id : 97675519991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By April 1963, the Panchayat system in Nepal became fully operational. Which of the following statements are correct regarding this system?

L. It was established by King Mahendra after a royal coup.
II. It was a party-less system.
III. It was a two-tier system.

Options :

1.¥ Tand II
2. % Only III
3. % Only I
4. % Tand III

Question Number : 185 Question Id : 97675519991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 1963 I , AUTA | Uarad Homel T3 oRE ¥ = 81 Ts 2| 39 yomelt & e 7 Fgfafad § @ o 91 %Y= 98t 82

1. S I He & - XTe! dedTudce & dle =ATUd foear uTl

11. I8 Gafde i yumat &t
111, T8 T TRIT yorme ot |

Options :
1. 1dUT Il
2. % ohad III

3. % Had Il
4. % 19T




Question Number : 186 Question Id : 97675519992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article talks about the application of the ‘Directive Principles’ in the Indian constitution?
Options :

1. % Article 29

2. % Article 37

3. ® Article 40

4. % Article 39

Question Number : 186 Question Id : 97675519992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU BT S 91 i H e dar & T & IR & §aral g 2
Options :

1. % 3Jwa 29

2. ¥ TG 37

3. % 3TwG 40

4. % TG 39

Question Number : 187 Question Id : 97675519993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A finance commission in India is constituted after the expiration of every years.
Options :

1. % second

2. % fourth

3. ¢ fifth

4. % third



Question Number : 187 Question Id : 97675519993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA H YdH Iy ! GHICT & 916G Uab fa SRINT &1 713 b Sl g |
Options :

1. % g

2. % Y

3. ¥ Uidd

4. % AR

Question Number : 188 Question Id : 97675519994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution give its citizens freedom to manage religious affairs?
Options :

1. % Article 20

2. % Article 17

3. ¥ Article 26

4. % Article 24

Question Number : 188 Question Id : 97675519994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT T BT B T ST ¢ 30 AR b1 1fifes B & Usies Y TacIa 3T 82
Options :

1. % 3J®q 20

2. % 3G 17

3. ¥ TG 26

4. % 3Tw9G 24

Question Number : 189 Question Id : 97675519995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which constitutional amendment act deleted ‘right to property’ from the fundamental rights?
Options :

1. % 52nd

2. ¥ 44th

3. ¥ 86th

4. ® 46th

Question Number : 189 Question Id : 97675519995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg ifaeTi-ep T=Me Sief-m 3 7 SfYDHRI & Hufl & HYDBR' DI geT fear U
Options :

1. % s5oai

2. ¥ 444

3. % godl

4. % 464

Question Number : 190 Question Id : 97675519996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In India, a parliament for the Union consists of

I. President of India
II. The Council of states
II1. The House of the people

Options :

1. # Il and III
2. % Tand II
3.9 [, 11 and 111
4, % Only 1



Question Number : 190 Question Id : 97675519996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR §, ¥4 & fore tep dug o gl
1. HRd & AFUfct

I1. TSI HT
T11. AIBHT
Options :
1. = I dUTIII
2. % IdUT
3.9 1 I dUT 1T
4. % Had |
Teaching Methodology
Group Number : 11
Group Id : 976755670
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 9767551100
Section Number : 1
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551277
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 97675519997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who founded the Asiatic Society of Bengal and embarked on the task of writing Indian History?
Options :

1. # James Prinsep

2. % William Jones

3. # Charles Masson

4. * John Marshall

Question Number : 191 Question Id : 97675519997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forem ST &t TRMACH TRITZET BT RATTAT 3R HRAH 3iTeT g & B &1 YL 3M1d B2

Options :

1. % oy figy
2. « faferag S
3. % 91 A9
4. % S ARIQ

Question Number : 192 Question Id : 97675519998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination of activity — Teaching Learning Strategy is correct?



I. You may take children to Panchayat office, Dam, Factory etc. — Field Trip
I1. Play the role of a Panchayat President who is addressing the members of Gram Sabha — Role play

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ® Neither I nor I

Question Number : 192 Question Id : 97675519998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad & O fovar - Reror 3R YU &1 o1 1 Sae 9 82

1. 39 5= &) Uemd Srierd, iy, hadt 3fe & off Iobd & - Wics fe

11 U UaTad 37ea&f B YHHT FHTE S UTH THT & Ia| ! Gaifad & g1 81 - Jd
Options :

1. % $had |

2. % Had II

3. ¢ 1 AUT I A

4. % A IAE I

Question Number : 193 Question Id : 97675519999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT correct regarding Formative Assessment?
Options :

1. ¥ It is conducted at regular intervals on formal basis.

2. # It encourages intrinsic motivation and self-esteem of students.

3. # It incorporates varied learning styles to decide how and what to teach.

4. ® It encourages students to understand the criteria that will be used to judge their work.



Question Number : 193 Question Id : 97675519999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oIS 3Mher & daf H FafRad & § & 91 Sy I8! 7ol 82

Options :

1. ¢ 39 MU YR R Fafid sfarTe R Ieferd faar Sirar g

2. % g BHEI & THA-FHM 3R 3Mdlkes IRUT &I WIfed dal g |

3. % Yg HY IR R UM 8, DI a8 B4 & forw fafer fRreror ferat o1 g w=ar g

4. % g B I 39 AFCS] B! THIH & 1T Menfed wal g e STanT 39 i W v a1 & for forar S|

Question Number : 194 Question Id : 97675520000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To create a learning friendly humane environment, as a teacher which of the following things you shouldn’t have to keep in mind?
Options :

1. ¥ Be always proactive to student’s cause

2. % Be patient and sympathetic while dealing with problems of children in the classroom

3. # Use pleasant words with firmness while handling indiscipline activities

4. ¥ Encourage cooperation but not collaboration among students

Question Number : 194 Question Id : 97675520000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh fRigfh & TU T fUTH & gl AT TR0l S b forQ 3imaes! FHafeifad & @ fo a1l 1 e =1t <@ =nfew?
Options :

1. % B fgd & fore gz wfea 36

2. % HeT T gl ! grHEredl ¥ fues & SR & 3R Jeryfa 33

3. % SRRl & [haTH ATl &I YHIAd §U Tedl & T AYR Usal BT ITAN B

4. ¢ BHEI & S GHIRAT DI THTRd B Al TGN D a1

Question Number : 195 Question Id : 97675520001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U I ae & Sel U 3TN SYU o URd A b (7T UHTET I ST Sl § 3R TP T P a1 3R et geff &
T R BT T AT g |

Options :

1. % URERY 3R Ao

2. ¢ S 3R dqad

3. % T 3R Iga

4. % oY SR T

Question Number : 195 Question Id : 97675520001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a way where effects are joined to produce an attractive whole picture and is a way to compare left and right sides of a
composition.

Options :

1. # Perspective and Harmony
2. % Harmony and Balance

3. ¥ Rhythm and Balance

4. % Harmony and Rhythm

Question Number : 196 Question Id : 97675520002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Through which of the following means and mediums, value education can be provided to the students?

I. Declamation contests
II. Use of mass-media
II1. Celebration of birthdays and international days

Options :

1. # Il and III
2. % Only III

3. % Tand II

4. 1,11 and 11T



Question Number : 196 Question Id : 97675520002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 for Iural SiR wrel § S & Yoo R UaH &1 S Tt 82

1. HTSOT GirairaT
1. Ar9-HfSar &1 STaRT
1. SHfe 3R RISy faadl &1 3ra

Options :

1. % I dYrI
2. % ohad III
3.% 144t

4, 1, I dYTIII

Question Number : 197 Question Id : 97675520003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which category is not posing a threat to children in the process of their education?
Options :

1. # Sensory impairment

2. # Problem with language and communication

3. % Children having neither cognitive nor learning disabilities

4. ¥ Physical deviations

Question Number : 197 Question Id : 97675520003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P T 90t St & forg It e &t s & werT Tar 78 R 6 &
Options :

1. % Hadt &ffd

2. % Y97 3R AR & 1Y JH=T



3.« S o= § 9 1 SIS SiR 7 81 IRaq &1 sieddr §
4. % RSP faaeq

Question Number : 198 Question Id : 97675520004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Gender differences are culturally influenced and socially constructed.
II. Gender — segregated activities create belief that gender differences are essential nature of males and females.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 198 Question Id : 97675520004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 By I8 82

I. S HeHTd IR de ©U I gHIad 3R o U 9 FfHd g1d g
I1. S8R faHTfoTa fopareramy gg fayma I oxar § foh Sier HeHTd gos! SiR Afgansl &t e Ui g

Options :

1. % Hadl

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 199 Question Id : 97675520005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Phrases like ‘change of heart’, ‘each and every’ are found in



Options :

1. % Australian English
2. % British English

3. # Indigenous English
4. ¥ Indian English

Question Number : 199 Question Id : 97675520005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T P BIC, TACS Ty, S A HUU S g
Options :

1. % Sfiecforrs sish

2. % fofesr st

3. % GO SISt

4.« YR 3l

Question Number : 200 Question Id : 97675520006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To foster creativity in the children, which of the following instructional materials are used?

L. Puzzle solving
II. Riddle solving
III. Poem writing

Options :

1. % Il and III
2. % Only I

3. % Only III
4,9 1,11 and 111

Question Number : 200 Question Id : 97675520006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Sl B TWHTHD T Dl MdTed B34 & forg, FaferRad & ¥ o I Aas i o1 Iuan faar Srdr 22
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Options :

1. ® I dYUTIII
2. % Had I
3. % ohad III

4.« 111 YT




